LS.A-50
LS.A-50-AS

X F R B4

- WO e B R EPA) BRSO EAOR R, WER, b,
fE A B % A

- AERES, EXWE,

- RN EWRIEN,

- LS.ARL A7 [ R 4 A9 K B

- LS.A-ASHEL . NBRE 70 R KA LA ACE B B4, WlFHEEL,
FHRNEEMGRARERRTRREE, WLEAZEE W&, BF
FESSEARTHERLT, REQDHIAL,

R F(RRITY, £2LE5121),

AN Y

oy

R R L TR et
TEEEEARERERERERERRRRTERRRRERRRRRRR RS G T

P A B, B,

TR AT WA B AT, S22 KA,

KFRBEHHRCREN A T ZRMFRE T E, KB T %
e BTl REEAA, R, TR EXE, KREME R P,

] —
!
A
y I 1
AR HERR Rt i | v | &/F | BHPT | ==
K BEe xS B S D L s | d 1] & | s N | g g
344121 | LS.A-50-14-M8x43 349121 | LS.A-50-14-AS-M8x43 50 70 73 27 M8 43 14 14 10000 48 60
344125 | LS.A-50-14-M8x68 349125 | LS.A-50-14-AS-M8x68 95 98 M8 68 58 70
344221 | LS.A-50-14-M10x43 349221 | LS.A-50-14-AS-M10x43 70 73 M10 43 58 70
344225 | LS.A-50-14-M10x68 349225 | LS.A-50-14-AS-M10x68 50 95 98 27 | M10 68 14 14 10000 70 82
344231 | LS.A-50-14-M10x98 349231 | LS.A-50-14-A5-M10x98 125 128 M10 98 84 96
344321 | LS.A-50-14-M12x43 349321 | LS.A-50-14-A5-M12x43 70 73 M12 43 68 80
344325 | LS.A-50-14-M12x68 349325 | LS.A-50-14-A5-M12x68 50 95 98 27 | M12 68 14 14 10000 85 97
344331 | LS.A-50-14-M12x98 349331 | LS.A-50-14-AS-M12x98 125 128 M12 0O8 106 118
344521 | LS.A-50-14-M16x68 349521 | LS.A-50-14-AS-M16x68 95 98 M16 68 129 141
344525 | LS.A-50-14-M16x108 349525 | LS.A-50-14-AS-M16x108 50 135 138 Y. M16 108 14 16 10000 181 193
344541 | LS.A-50-14-M16x148 | 349541 | LS.A-50-14-AS-M16x148 175 178 M16 148 233 245
344561 | LS.A-50-14-M16x168 349561 | LS.A-50-14-A5-M16x168 195 198 M16 168 259 271

U RARARA AREREERERT, EOERFE LHREE, ThEIRDRAET,
# %% T B R

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+BANTER




